FIFO Method

	1.
	Equivalent Units of Production
	Materials(soup)
	Materials(cont)
	Conversion

	
	To complete beginning work in process:
	
	
	

	
	      Soup ingredient Materials: 40,000 gallons x (100% − 100%)
	0
	
	

	
	Container  Materials: 40,000 gallons x (100% − 0%)

	
	40,000
	

	
	Conversion: 40,000 units x (100% − 75%)

	
	
	10,000

	
	Units started and completed during the period (100,000 units started − 20,000 units in ending inventory)

	80,000
	80,000
	80,000

	
	Ending work in process:
	
	
	

	
	Soup ingredient Materials: 20,000 units x 100% complete

	 20,000
	
	

	
	Conversion: 20,000 units x 50% complete

	
	
	 10,000

	
	Container  Materials: 20,000 units x 0% complete

	
	0
	

	
	Equivalent units of production

	100,000
	120,000
	100,000


	2.
	Cost per Equivalent Unit
	
	
	

	
	
	Materials(Soup)
	Materials (Container)
	Conversion

	
	Cost added during the period 

	$200,000
	$240,000
	$155,000

	
	Equivalent units of production 

	100,000
	120,000
	100,000

	
	Cost per equivalent unit(costs added/equivalent units)

	$2
	$2
	$1.55


	3.
	Cost Reconciliation
	

	
	Costs to be accounted for:
	

	
	Cost of beginning work in process inventory
($52,000 + $40,000+$0)

	$ 92,000

	
	Costs added to production during the period
($200,000 + $155,000+$240,000)

	 595,000

	
	Total cost to be accounted for

	$687,000

	
	Costs accounted for as follows:
	

	
	Cost of ending work in process inventory

	$ 55,500

	
	Costs of units transferred out

	 379,500

	
	Total cost accounted for

	$687,000

	
	Costs of Ending Work in Process Inventory and Units Transferred Out
	
	

	
	
	Materials(soup&container)
	Conversion
	Total

	
	Ending work in process inventory:
	
	
	

	
	Equivalent units of production

	20,000
	10,000
	

	
	Cost per equivalent unit

	$2
	$1.55
	

	
	Cost of ending work in process inventory

	$40,000
	$15,500
	$55,500

	
	
	
	
	

	
	Units transferred out:
	
	
	

	
	Cost in beginning work in process inventory

	$52,000
	$40,000
	$92,000

	
	Cost to complete the units in beginning work in process inventory:
	
	

	
	Equivalent units of production required to complete the beginning inventory

	40,000
	10,000
	

	
	Cost per equivalent unit

	$2
	$1.55
	

	
	Cost to complete the units in beginning inventory

	$80,000
	$15,500
	$95,500

	
	Cost of units started and completed this period:
	
	
	

	
	Units started and completed this period

	80,000
	80,000
	

	
	Cost per equivalent unit

	$2
	$1.55
	

	
	Cost of units started and completed this period

	$160,000
	$124,000
	$284,000

	
	Cost of units transferred out

	
	
	$379,500


